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Equazioni esponenziali

24.

25.

26.

27.

28.

29.

(2x+3)x—4:1
(2x+3)x—4:20 — (X+3)(X_4):O = X=-3; XxX=4

(2¢* +3)(e°°-1)=0

2 +3=0 = exz—g impossibile

x> —4 xX=-4 4
4 = X=-—

-X-4=2X X=-= 3
3

Xx<-4 X<-4
imp

X+ 4=2X X=4

2t -1)=7

21 _1=27 = 2¢1=8 = 22"1=2®) = x+1=3 = x=2

2t -1=-7 = 2*'=-6 = imp.

SEH-X_Z_
4% -11
-2
Pongo: 4" =t = ﬂ:1 = Et=t—11 ca:tz11
t-11 16
11

—1—6t=—11 = t=16 = 4°=16 = 4" =4* = x=2

g2 =16

g =g = JIx+2/=2 = |x+2|=4
X+2=4 = Xx=2

X+2=-4 = X=-6
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30.

31.

32.

33.

22—X _23—X + 2X :O
2 3
2 _2 =g
2r 2

x 4 8 2
Pongo: 2° =t ?—?+t=0 = t°"-4=0= t=%2

t=2 = 22=2" = x=1
t=-2 = 2°=-2 imp.

21 172" +8=0
(2)2 2 -17[2* +8=0

Pongo: 2 =t 2t*-17t+8=0

17+ .,/289-64 _ j

t
1,2 4

2
t=8 = 2*=8 = 2*=2® = x=3

t== = t=2t! = 22=27 = x=-1

N

5x% -3 5-x?

27 X2 +1 - 273x2+1

5x* -3 _ 5-%°
X2 +1 3x2 +1

16x* -8x*-8=0 = 2x'-x*-1=0 pongo x* =t

1
+ .1+
2t -t-1=0 = t1’2=w:

4 —1 non acc.
2
xX*=1 => x==1
X+ X 247 15
3 1+3 2 - 3X—2 - 3X—l
¥ [B + 3B - 247 15

3*[B2 3B
3 247 _15[B

3@+ - ongo 3" =t
9 3" 3" beng
3t+%—§—?=0 = 27t +t2 - 9[(2223+45)=0

28t2=9[P268 = t?=9[B1 = t’=3F B =

= 15Xx* +5x* -9x* -3=5x*+5-x* - x*
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= t=3 =

= t=-3

t2=3°

imp.

_1_3+1
3)(

34, 13[B"* -3~ 0

3
13[B[BX—3——E+1=O
3F 3

39t—%—$’+1=0 N

-1+ ,/1+ 6240

78

= tL2 =

t=1 = 3=3
_40
39

= X=
40

39

X —

t =

427X —5@7F+1=0

2 1

¥ 502 4120
4X 2)(

16 10

t_Z_T-I-l:O =

35.

t?-10t +16=0 = t,=

t=8 = 2x=2°
t=2 = 2¢=2

3B +3F -4

36.

= Ot?

wl oo

t? -12t+27=0 = t, =

t=9 = =3

= X=
= X=

= X=
t=3 = 3F=3" = x=

=3 = x=3

pongo 3 =t

39t?+t-40=0

-1+79
78
-1-79
78

_40
39

0

= imp.

pongo 2* =t

5+,/25-16

1
3
1

pongo 3" =t

+27-12t-8t2 =0

6+ .36 - 27 :<

1

9
3

2
1




